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Clocking Domain important part of use of reactive region

Failure to use clocking domain leads to pre vs post synthesis
differences

How do you get to reactive region?

— Event/delay control inside special construct (program)

How easy is it to accidentally use non-clocked version of
signals?

— Most common place for clocking domain is in program

— Both clocking signal and regular signal available
— Non-clocking signal easiest to use
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initial begin

##0: // start in reactive

C.z <= C.X:

@(myclking); Ooops, | forgot to include
c.z<=Yy; clocking domain “c.”

when sampling signal!
@(myclking): PG =

C.Z = C.X;

end
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o 24 Port Gigabit Ethernet

* Problem
— Need 24 clocking domains — one for each port

e Current Solution
— Put each port’s clocking domain in interface
— Instantiate clocking domain in interface
- Have to use interface.clocking.signal — yuck!
- | already disliked clocking.signal!

— If you bury program in interface, you get same error prone problem (illustrated
on previous slide)

* Proper Solution
— Change syntax so clocking domain is just a view of signals in an interface

- Only have to type interface.signal
> Still would I'i ke enhancenent in 3.2 to fix this

- Can’t accidentally get non-clocked signal!
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nmodul e/ programtb (
| ogic req, gnt,
| ogic [7:0] addr, data,
| ogic [1:0] node,
| ogic start, rdy);

cl ocking cl kl @ posedge clk);
| nput #l1lstep gnt, rdy, clKk;
out put #2 req, addr, node, start;
| nout dat a;

endcl ocki ng

endnodul e/ endpr ogram
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I nterface sinple bus (
| ogic req, gnt,
| ogic [7:0] addr, data,
| ogic [1:0] node,
| ogic start, rdy);

nodport tb @ posedge clk) (
| nput #lstep gnt, rdy, clKk,
out put #2 req, addr, node, start,
| nout data);
endi nterface: sinple bus

nodul e/ program t b(si npl e_bus.tb bus);

endnodul e/ endpr ogr am

—

Can’t accidentally get
version that didn’t
go through clocking



